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Xl 3,721,000
s 13,690,909
Aot 2el 6,888,409 2,208,128 4,680,281
= 17,500
X 3,721,000
[ia 3,149,909
AT ALz 6,888,409 2,208,128 4,680,281
= 17,500
Xl 3,721,000
[ia 3,149,909
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201 et 6,000 6,000 0
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200,000& * 283l 5,600
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201 LBH2I | 21,306 35,748 N 14,442
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- 126 & 4288 150,000&  15&k Xt 2,250
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401 Al HI YL =2 THYI 20,000 37,100 A17,100
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—Jlas 1,900,260& * 2% * 123 45,607
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01 ¥R 1,800 1,800 0
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MEES(AMt=TAIEA) 10,414,000 10,250,000 164,000
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701 JIEtSI HETES 10,414,000 10,250,000 164,000
03 BIILELIIHMNENES 10,414,000 10,250,000 164,000
OXNg3Ida=EAMd SEHMEES 2,820,000
— 2K WS 223A 500,000,000 500,000
— &5 =22 EOUAY 300,000,000 300,000
— FHHI 22 =AY 400,000,000& 400,000
—H%E ARBA 2 XA (60021)
200,000, 000& 200,000
— 018D &5 EIAMY 100,000, 000& 100,000
—JIZMELZIE 2T )2 HB AL (40
b)) 20,000,000& 20,000
— & 222 WHMAY  500,000,000& 500,000
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—HAE Faa2lHl(14HSD)
500,000,000 500,000
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